
qm=;++ cfof]hgfsf] gfd
cfof]hgf 

:yn

cg'dfgLt 

nfut
s}lkmot

          s[lif

1 l;+rfO{sf] nfuL l8k af]/LË j8f g+= % 500000

2 l;rfO l8hn kDk j8f g+= % 500000

        ko{6g tyf ;:s[lt

1 dxf/fh yfg lgdf{0f 8fuL 6f]nf j8f g+= % 40000

2 dxf/fh yfg lgdf{0f kmQ]k'/ j8f g+= % 40000

3 dxf/fh yfg lgdf{0f x/L/f j8f g+= % 40000

4
5xf/L rf]s ;tf/ j:tL ;Gyfn dlGb/ lgdf{0f j8f g+= %

40000

       vfg]kfgL tyf ;/;kmfO

2 vfg]kfgL 6\o"j]n v/Lb j8f g+= % 75000

       n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f

1 dlxnf nIfLt of]hgf j8f g+= % 120000
2 jfnjfnlsf nIfLtof]hgf j8f g+= % 120000
3 cflbjf;L hghftL nIfLt of]hgf j8f g+= % 90000
4 bnLt nIfLt of]hgf j8f g+= % 90000
5 h]i7 gfu/Ls nIfLt of]hgf j8f g+= % 60000
6 cfkfËnIfLt of]hgf j8f g+= % 60000
7 dw]zL d':nLd nIfLt of]hgf j8f g+= % 90000

            ;8s

1
s[i0fsf] 3/ b]lv klZrd kf]v/L ;Dd ;8s u|fe]n 

lgdf{0f

j8f g+= %

200000

2
dnfxf 6f]nL b]lv wfw/f vf]nf x'b} lji0f' ax' eflifs 

ljwfno ;Dd ;8s u|fe]n lgdf{0f

j8f g+= %

1500000

3
tf/frg sf] 3/ b]lv uf}/fbx g=kf= ;Dd ;8s 

:t/f]GgtL

j8f g+= %

400000

4 dNxf6f]nL ljdn zfxsf] 3/ b]lv af]8{/;Dd ;8s j8f g+= % 100000

5
wg a= rf]s b]lv blIf0f /fd eh'sf] 3/ x'b} /t'jf 

vf]nf ;Dd ;8s u|fe]n lgdf{0f

j8f g+= %

200000

6 xo"d kfO{k v/Lb j8f g+= % 310000

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

5 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



qm=;++ cfof]hgfsf] gfd
cfof]hgf 

:yn

cg'dfgLt 

nfut
s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

5 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

9
hubLzsf] 3/ b]lv ;tf/ j:tL x'b} x'nfls ;8s 

;Dd ;8s u|fe]n lgdf{0f

j8f g+= %

200000

10
dNxf6f]nL dxf/fh yfg b]lv d]g af6f] ;Dd u|fe]n 

lgdf{0f

j8f g+= %

160000

11 klgnfnsf] 3/ b]lv lrNxf/f ;8s df6f]sf] sfd j8f g+= % 150000

12 dd{t ;Def/ j8f g+= % 115000

          ljB"t

1 ;f]nf/ alQ ljt/0f j8f g+= % 150000

2 l;+rfO{sf] nfuL ljw't lj:tf/ j8f g+= % 400000

       ;/;kmfO{ Joj:yfkg

1 k"0f{ ;/;kmfO{ j8f g+= % 150000

            ;+:yfut ljsf;

1
hgk|ltlglw tyf sd{rf/Lx?sf] cjnf]sg 

e|d0f

j8f g+= %

100000

hDdf 6000000


